Simplex Method-l\/[ax1mlzmg

(1) Maximize p = 20z, + 24z, subject to the constraints
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Ans: p =272 at z; = 4,15 = 8.
(2) Maximize p = 4z, — 6z, + 523 subject to the constraints
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Ans: p=15at z1 =5/2,20 = 0,23 = 1.
(3) Maximize p = 2x; — T3 + T3 subject to the constraints
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Ans: p=31/5 at 7, = 14/5,z5 = 0,23 = 3/5.
(4) Maximize p =-2z1 + =3 + 3z3 subject to the constraints
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Ans:p=1l4atz; =320 =2,23=2.
(5) Maximize p = 8z; + 9z + 423 subject to the constraints
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Ans: p=31/3 at z; = 2/3,25 = 5/9,z3 = 0.
/5



(6) Maximize p = 2z1 + T3 + 673 + x4 subject to the constraints
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Ans: p=16at 11 =2,20 = 0,23 = 2,24 = 0.
(7) Maximize p.= z; + 2z5 + 333 + T4 subject to the constraints
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Ans: p=30at z1 =6,2, = 0,23 = 8,1, = 0.
(8) Maximize p = z1 + 235 + T3 + 5z4 subject to the constraints
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Ans: p =350 at z; = 0,73 = 50,23 = 0,34 = 50.
(9) Maximize p = z; + 233 + 473 + 5y subject to the constraints
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Ans: p =330 at z; = 0,25 = 30,73 = 50, 4 = 14.
(10) Maximize p = T1 + 229 + 33 + x4 subject to the constraints
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Ans: p=50at z1 =0,22 = 6,23 = 12,74 = 2.



